Basic algebra ' e TG

Ch: 2,8, p. 38

Problem solving and algebra.

Find the perimeter of each of the following shapes.. -

1 - 2 3
7 X
x+2
Find the area of eaéh of the .féllqwing shapes. : ' ', e
5x+7 L AW T T
m R &
o 1, L 3x-5 :
.7 Find the sum of 3x and 5y.
8- -What is the product of 8m and 5n?
"9 Find the average of 6x, 2x and 7x. 7
10 Find an expression for 5 more than the sum of 3 and 2x.
11 Find the area of a square with side length y metres.
12 Tf the first number is 4x, write the next consecutive integer.
~ 13 Increase 9x by 10 and then decrease this result by 2x.
14 Find the volume of a cube with side length 2x cm.
15 Find the number (x - 2) less than 4x + 5y. A
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Basic algebra

TOPICTEST

Instructions.

. Calculators may be used

Time allowed: 15 miﬁutes

» This part consists of 15 mulitiple choice questions
» Fill in only ONE CIRCLE for each question
e Each questionis worth 1 mark '
L

Total marks =15

1 Tfa=-4and b =3 the value of a is

@ 48 ® 144

2 F+o-

®'aﬁ_ 03

3 15835 =

@A 3% 3x2

4 2a X 3ax 4a =

@ oa ® 98

1 1 '
5 —_— = . - A
x oy .

i‘ : - V_

® 5

% I

6 3);—(—x)=
@ 3 3x

7 ?:yz—-2y+5y+4_y2.=

@A 7y + 3y ® -7y
8 78x (-4t =

@ 3t 3¢5
9 x4+ 4)-x=

12 } 15°
1b (4x3)z=

@A 4 4x°

© -4 ®

© 106 o

© 24a , (D)

© 3¢ )
© 7v+3y q0)
© ~28t5 )]

© x+4 D

© 16x° D)

2a

10x%

243

4%

7yt - Ty

—28¢°

2x + 12

16x°

Marks
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44 60 o ’ T
11 —=
2ab )
3¢ - L 6
® o ow et
12 3ab-b+ab-2b= '_ 7 ' )
@& 2ab-b - 2ab-36 - © 4ab-b - O 4ab-3b-

@ﬂ e _,\® e | .o © X”_ - ‘@\Xaz.

14 (fey?) | - -

@ y By © v D

45 The correct factorisation of 2ab - a is.

@ 2a(b-1) 2a(b - a) © a(26-1) @ a(2b - ay

Total marks achiéved for PART
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|Meks ). Basic algebra | _
I TOPICTEST | A PAI
1 i Instructions « This part consists of 15 questions -
"5 » FEach question is worth 1 mark - :
i e Write answers in the ‘Answers only co[umn
i
1 ‘ . Time allowed: 15 minutes - Total marks = 15
_ ' . _ Questions _ _ - Answers only |
I 1 simplifysy~4y-y
} g Simplify 66° x a
1 i
Factorise 7x + 14y
’ 1 a4 If%:ilﬁndx
1 ' .
5 Expand 3x«(2x - 5y)
5 6 Ifa=3,6=-2andc=0, find the value of 3¢ + 2b - ¢
1 : Simplify the following.
= | A
X s
] ,
15 8 (30 : .
9 4ox?
_ 10 36m° —12m°
(a4 0@ 3a
b 9 9
: 3x+5 %
: 12 —~
1 4 4
118 x—
] o 3 xy
o B
1 1a 2.l
: ST 5 10
15 3(a—4)+4{a+2b)
; Total marks achieved for PART B
20K 2 - EXTENSION EXCEL ESSENTIAL SKILLS: YEAR 8 MATHEMATICS REVISION AND EXAN WOF_U{BOOK 2—EXTENSION -




Basic_algeb_ra.. o e
TOPICTEST P

Instructions « This part consists of 4 questions:
¢ FEach question is worth 5 marks.
« Show all necessary working

Time allowed: 20‘ minutes Total marks = 2

1 Ifa=2, b=—4and c=-6, find the value of each'expression.

a abc - 7 : b 5(a+b+c)
¢ 5q52 L : _ d -3ab+ 2c -
e &+b-¢ .
2 Simplify. -
a -7d+6a+4a ‘ b 6a+5(3-4a) -
. o - ' 5
¢ -8(2a+3b)y+a __ d 9.2
T _ a a
3x 2x:
e S — —_—
5 17

3 Expan-d and simplify.

T a 9% -3(x+5)

b x(3x-2)-30¢-x) ____ .

¢ 25-{(x+17)

d -9(x-y)+3(2x-y) _

e —6(q +2b) - 2(b-a)

4 Factorise.

a 3x-x b 3p’q + 12pg?

¢ Solve 3(x - 1) =16

Simplify the following.

d 5p*xg°xpg
15a°6*" 25ab

FoE (e T

Total marks achieved for PART C
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Answers

12 $23 072 13 $426.67 14 300 15 $375. : _
Paces32& 33 1D 2C 3B 48 5D 6C 7D 8C 9D 10A 11 C 12D 13 C 14 B 15C

: ' 22
Pace 34 19 2 16% 3750 4 93 5 198kg 6 817 7 60% 8 74% 9 375 10 99.36 11 12 12 P 13 90

14 33 15 900
50 -

: S : S - 11
Page 351290 b6 c52 d340-e 165 2 a 140cm b $22t c 450501 d 2.94h e 105 3 a S 55

17 1 o : o
b 5g-¥5% € 1250% 125 d -, 0.0625 e 60% 0.6 4 a 48% b 25% ¢ 124% d $312 e $64

Page 36 1 a 11x b 16x ¢ 16x d 27x -e 41x f 45¢ g ldxy h 20mn 1 38q j 18x k 4206* 1 19p 2 a 4a b 8a

.c5a d15x e Im f 4y g 6x h2y 1222 j & k 5x l11p 3 a12¢ b 8 ¢ 140 d 1l4a ce 20y f 8mn g 9%
h134® 1 6x j 16t k 10m | 12z 4 a 3x+5y b 9a+116 c5m+2n d 4 e 2a+5b f 14a-66 g 15y -7x h 6xy
5a 22 - 10x b 3m+3n ¢ 19x-2y d 11X -7y e 8m+2n f bxy+6yz g 9a+6b h 3a+6h i 6t+3 j 18ab

Pace 37 1a10¢ b18h c 72 d 2ly e —6ab f 6a g —3ab h 6ab 1 18x | -45¢% k 1602 | 12x> 2 a 18ab

- b 6x® ¢ 40xy d 242 e 27ab F -30a2 g 483,!2 h 682 i 54 j -30a®h 3 a 20®h b 90a c 30¢%c d B e -S4ab’c
f 420 g -40x h 6x° 4 a 400h b 14K ¢ -7287° d 8% e 36m® f 24m* g 3 h -30x¢ 5 a -8a%h® b.-84c%
¢ -187 d 30abc. e -40% f -x% g 25p° h 3642 . .

Page 38 12 230 bi3pg ¢ — d3x e 3y f6a g 2a h'9x1';2a3 b4y c3n d8n e -x f8 g 4

5m
h 8 idy j-3b k3b Udx 3a-3xb-2b c2y d3x e3y f4 g4 hil2y i -5 j10n 4a -4 b 17
ab 3 '
€-8 d-2 e2x f&m gy h8b 5a-4b béx c-1 d elng'E h 2 )
- Pace 39 1 a 160 b 60a%c ¢ 156 d 288° e -27¢ f -36a° g 45¢y h 15 § 96a%% § 720’ k 3a*b [ 903

. - —5h ,
2a5 b9 c6 d25 e-2g f-7x g-4b h 4o i4p jdyz k5 L-9n.3a-9 b = c-1 d 7abc e 3

f7t g4y h 56 1 — j -5a 4'a —15¢° b 40abc ¢ -56x* d 48 e -30a%h f -40x% g 36602 h -d'b* 1 8gP

rn o,

10 -
j-15x% 5 a6 b 12 ¢ £ d 46* e 6ab T -x

Pace 40 tacd b 6p5 cyt dm e 326 fx® gx® h o728 180p" 0 kab' L36xy 2 aa b 4nF
¢ 4dab d & e K& 20 g a® h 40® 1-290% j w7 kmin? U 82 3 aaf b ¥e *lé 64’y d m¥® e xM
f 7290°" -g x* h-64¢® i 125m™ ja? k 81p* L1000 4al1l b1 c9 dT e1 £2 g1 h1i1

. - - 432 N
Sax bpg ca® dm e64p* Fx gi30¢ homn 133 6a12a2 b 2ab* cat d9a e W f 45a%°

gx* ha'h i by

Page 41 1 a 3x+3y b 10a+156 c 8a+12 d 48a-42h e 8m+24p f 15a-12m g 5 +40x h 7x-35
i"9a*~18ab § 24x-36 k Wam+6mn | 45x-105 2 a -3x-6 b -108-5¢y ¢ —4x+14 d -16x ¥ 6xy & -12x+15
fay-y g 64x+72 h -3m*-8m i -2¢-2x j -16n+10mn k -6x2-15x 1 —1222+18f 3a 10x+35 b 21x- 77
¢ -12x+27 d -8x-20 e 48y+24 f -16¢°- 150 g ~2¢~7x h -8m*+5m i —6£2-10t j 16a°+24ab k -24x +40x
U'12p%-18mp 4 a 7x+6 b ily+17 ¢ 2xy-35 d p-70 e 2*+12y f 5x+6 g 12p-24 h 9m-16 i 8m’+9m
"j 4x-26 k 5i-24 | 3Ix+54 B abm+14 b 2x+18 ¢ 19%x+62 d 8x+76 e 3y+37 f 17x+24 g 5n-32
h.22-3 ) : A

PAGE42 1228 b 336 c 21 d 78 e 4032 209 g23 h37.i-11 j71 k1316 1380 2a27 b1
¢c7 d69 e96 f8 g5sd h 64 13 j45 k48 1'-33 3 a 107 b 17.1 ¢ 342 d 23.13 - e 114,49 f 483.84
g"425.088 h50 102 j41 k88 139 4 a 138 bs0 c¢360 d-18 e 32 f11 g 212 h -5 i 30, )
Prce 43 1 a 7(x+1) b 2(5a~-1) c 7(y+2) d 4(2x-1) e 3(a+5) f 4(x-3y) g 3(vy+1) h 5m+6) i 4(8-7)
jsla-1) k' 23a-b) [ 5(a+7) 2 aply+3) b3(2y-1) ¢ BP(2x-1) d-2m(m+3) e 4a(@a-1) f m(m-9)

g 8f{a+3) h3y(y-2) i 8a(2a-1) j x(x+9) k 3¢(@a-2) | x(4x-1) 3 a -3(x+1) b -4(#-4) ¢ -3(2n+1)
4 5(x+8) e -3(x-9) f-I(t+2) g -2m*+2) h -5m*-7) 1—‘11(x2+2) j-6(@-2) k -8(@@+4) | ~13(y-3)

4 a -6x(x+2) b -4x(dx+1) ¢ —3(2x+3) d -4y(2x+1) e -02(x-3) f 5x(3x+y) g -3(2mn+1) h -5yl —5) .
1 -3mfan-5m) j -4xy(2z-1) k -3x(3x+5) | x{1+3y) 5 a 8(e+2b) b 5e-5) ¢ 42x-y) d Ha-b) e 8(1-1)

" EXGEL ESSENTIAL SKILLS: YEAR 8 MATHEMATICS REVISION AND EXAM WORKBOOK 2 — EXTENSION Lo 147




Answers

f mi(m-4) g o(l6b-a) h 7(2m~1) i 8ab(2-0a) § Sxy{3xy-1) k ~6(m+6) L -4m+3n) 6 a 3a+b+q)
b p(ibg-7) ¢ x(x+7) d B(x+y~27) e x(-1) f53a+b-2c) g 4x~2y) h yy-1) i 3(6x-3y+2) j 16{(x-2y)
k 3”(5’”_1) L 3(2a*+a+3) m m(m-2n) n g8p-q) o —6(x+xy+?2) : s

o X 17x | 2a 2% y Tx 25q 13a 46x iim 29a a
: b X g g2 P kT = 2a
Pack 4d 1a , br e dy e 7595, Mg T Iy g '3 3
2x 10y 4m D X (54 X ¥ o, X +2 T4x+3 19x  x 3x
T A e I Ry L 3a b e ¢ =
by 13 12 "3 T Mo Vs T T 12 7% 20 ° 4
. =X 4x 2x - Bx. . 9m | 37x 13x. ix 7im 5p 4y, Va.-, 19x -, 1%
TR Mg X g 20 g B2 2 N D 4 2R B g = g
iy ey T e % Vs 1 K 50 T 8 ° 30 30 ° 14
R P ) | - '
T 1 s 16
- ]
a Xy
45 12 — =
Pacs 27 P

Bo5 5 a2
66 6 f16 1w 9
hﬂ T o i X
g Ve Ry
PagE 46 1 8x+4 2 i2x 3 12x+10 4 53 +7x 5 Ox% 6 61— 10x 7. 3x+5y - 8 40mmn 95x 10 2x+8 11 y¥m*
12 4x+1 13 7x+10 14 8Fcm® 15 3x+by+2
PAGES47&431AZD3A4D 5B 6D 7TA. 8¢C QD 10D 41 B 12D 13 B 14 C 15¢C
5 4x+5
Pace 49 1 -2y 2 6® 3 T(x+2y) 4x 4B B - 15xy 65 7 6x 8 9% 9 Jx 10 24m* 11 Y 12 p

133 14 8 15 7a+8b i2 -
4 61x

" PacE 50 1248 b -40 c 160 d 36 e -16 2 4 3a b a+15 ¢ -15a-24b d = e - 3abx-15 bx-

3ab -

< 8—-x'd—3x+6y' e -4o~14b 4 a x(3-x) b 3pglp+4g) cx=3 d5pg° e 10

Page 51 1 a 12 b 1:3 ¢ 1:3 d 16 e ;7 f1:12 g 1:9 h 18 § 19§ 14 k1:5 [ 1:9 2 a 613 bl3

c 13 d 219 e 1:13 f 2:21 g 29 h 113 i 314 § 211 k' 215 L 49 3 a 35 b 311 ¢ %:16 d 34 e 15
f51 g13 h57 §i613 j 5:6 k-12:1 15 4a421 b 415 ¢ 6 .d 25 e 34 f1:7 g 825 h 23 15:2
j&5 k101 LS54 5a6:25 b 115 c518 d 31 e 7:18 f81 g 57 h 78 ’

Pace 52 1 a 20kg, 160 kg b $10,$35 ¢ $168, $672 d $300 - e $800 2 a 25cm ‘b 15 ¢ 40°, 60°, 80° d 16:25
e 9 3 a28m b $36,860 ¢ 3:10 d $1200, $1600, $2000 ' :

Pace B3 1 a 80km/h b $20 c 5% L/min 'd $7.95 2 a 1- b 960 C‘-SLGOO‘ld $300 e 1800 f 0.6° .

3-a80km/h b 108km c 4861 4 a 25km/min b 0.027 km/s ¢ 136 5 a 168.75km/h b 258 mfy ¢ 37

Pace 54 1 a 1:1500 b 1:200 ¢ 1:30000 d 1:5000 e 3500 f 1:40 g 1:30000 h 3:10- 1 1:8000 2 a 1m

b 4m- e 6m d50cm e 70cm f 2km g 60cm- h 80 cm i 1.5km 3 a4m b 100m ¢ 8km d 75m - e 9.3 km
f 23.45km ‘g 9m "h 152 km 14825km 4aﬁcm b7cm c138cm dOScm e 50cm f 39.65 cm
5348mx56m b058m :

1

PAGE 55 ia T : b yes ¢ see diagram d y=x+1 2 3 y=2x+1 b (:—1 -1),
: x | -1 1 B
[ o g g A * % -1 1 3 5
- v ¥
- - ’l . - il B . M
0,3}, (1,3), (25 ¢ d yes- 3 a NHARRNE b’ right-angled triangle ¢ 3 units 4 % units
'“Xkﬁk,,‘}i M - 74777‘0; y x ° . .
AR
> =4

-
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